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 funsZ’kfunsZ’kfunsZ’kfunsZ’k     INSTRUCTIONS 

1- lHkh iz’uksa ds mÙkj nhft,A 1. Answer all the questions. 

2- izR;sd iz’u nks vad dk gSA 2. Every question is of two marks. 

3- Xyr mÙkjksa ds fy, vad dkVs ugha tk,axsA 3. There are no negative marks for incorrect answers. 

4- ijh{kk izkjaHk gksus ij iz’u&iqfLrdk vkidks ns nh tk,xhA igys 
ikap feuV vkidks iz’u&iqfLrdk [kksyus rFkk mldh fuEufyf[kr 
tkap ds fy, fn, tk,axs ftldh tkap vkidks vo’; djuh gS & 
doj i"̀B ij Nis funsZ’kkuqlkj iz’u&iqfLrdk ds i"̀B rFkk iz’uksa 
dh la[;k dks vPNh rjg ls tk¡p ys fd ;s iwjs gSaA nks"kiw.kZ 
iqfLrdk ftuesa i"̀B@iz’u de gksa ;k nqckjk vk x, gksa ;k Øe 
esa u gksa vFkkZr~ fdlh Hkh izdkj dh =qfViw.kZ iqfLrdk Lohdkj u 
djsa rFkk mlh le; mls ykSVk dj mlds LFkku ij nwljh lgh 
iz’u&iqfLrdk ys ysaA blds fy, vkidks iakp feuV fn;s tk,axs] 
blds ckn u rks vkidh iz’u&iqfLrdk okil yh tk,xh vkSj u 
gh vkidks vfrfjDr le; fn;k tk,xkA 

4. At the commencement of examination, the Question 
Booklet will be given to you. In the first five minutes, you 
are requested to open the Booklet an compulsorily examine 
it as below: 
Tally the number of pages and number of questions in the 
Booklet with the information printed on the cover page. 
Faulty Booklets due to pages/questions missing or 
duplicate or not in serial order or any other discrepancy 
should be got replaced immediately by a correct Booklet 
from the invigilator within the period of five minutes. 
Afterwards, neither the Question Booklet will be replaced 
nor any extra time will be given. 

5- izR;sd iz’u dk dsoy ,d gh mÙkj iF̀kd ls nh x;h vks- ,e- 
vkj- esa fy[ksaA 

5. Give one answer of each question in a separately provided 
OMR answer sheet. 

6- dPpk dk;Z bl iqfLrdk ds Nis gq, i"̀Bksa ds ihNs dj ldrs  
gSaA 

6. Rough work is to be done on the back of printed        
papers. 

7- izR;sd iz’u ds pkj oSdfYid mÙkj fn;s x;s gSa ftUgsa vaxzsth esa 
Øe’k% A, B, C, D, fy[kk x;k gS vkSj fgUnh esa Øe’k% v]v]v]v]    c]c]c]c]    l]l]l]l]    
nnnn fy[kk x;k gSA vH;kFkhZ dks iz’u dk lgh mÙkj] mÙkj i=d esa 
izR;sd iz’ukad ds lkeus fn;s x;s ckWDl esa fy[kuk gSA dsoy dsoy dsoy dsoy 
uhys@dkys cky Iokb.V iSu dk gh bLrseky djsaAuhys@dkys cky Iokb.V iSu dk gh bLrseky djsaAuhys@dkys cky Iokb.V iSu dk gh bLrseky djsaAuhys@dkys cky Iokb.V iSu dk gh bLrseky djsaA 

7. There are four optional answer of each question which 
have written A, B, C, D in English and v]v]v]v]    c]c]c]c]    l]l]l]l]    nnnn in Hindi 
respectively. Candidate is required to darken the correct 
options of the answers of each question in the box given 
against each question No. on the answer sheet. Use only 
blue/black ball point pen. 

8- vki mÙkjiqfLrdk ij fu;r LFkku ds vykok viuk jksy uacj] 
Qksu uacj ;k dksbZ Hkh ,slk fpUg] ftlls vkidh igpku gks lds] 
vafdr djrs gSa vFkok vHknz Hkk"kk dk iz;ksx djrs gSa rks ijh{kk ds 
fy, v;ksX; ?kksf"kr fd;s tk ldrs gSaA 
udy lkexzh ykuk] mi;ksx djuk] vU; ijh{kkFkhZ ls ijh{kk ds 
nkSjku ckr djuk oftZr gSA eksckby Qksu vFkok bysDVªksfud ;a= 
dk ijh{kk gkWy esa iz;ksx oftZr gSA ;fn fdlh ijh{kkFkhZ ds ikl 
dksbZ Hkh oftZr lkexzh vFkok dksbZ f’kdk;r feyrh gS rks mlds 
fo:) fu;ekuqlkj dk;Zokgh dh tk,xhA 

8. If you write your Roll No. or put any mark on any part of 
the Answer Sheet, except for the space allotted for the 
relevant entries, which may disclosed your indentity or use 
abusive language, you will render yourself liable to 
disqualification. Carrying or use of copying material, 
talking with another candidate during examination is 
prohibited. Mobile phone or any electronic equipment is 
prohibited in the examination hall. If any of the prohibited 
material or any complaint is received against any 
candidate, necessary action as per rules will be taken 
against such candidate. 

9- ;fn dksbZ vH;kFkhZ udy djrs idM+k tkrk gS ;k mlds ikl 
dksbZ vukf/kdr̀@oftZr lkexzh ikbZ tkrh gS rks mlds fo:) 
iqfyl esa izkFkfedh ntZ djkbZ tk,xh vkSj vuqfpr lk/kuksa dh 
jksdFkke vf/kfu;e 1992 ds fu;e 3 ds varxZr dk;Zokgh dh 
tk,xhA lkFk gh ,sls vH;kFkhZ dks Hkfo"; esa gksus okyh leLr 
ijh{kkvksa ls oftZr Hkh fd;k tk ldrk gSA 

9. In case any of the candidate is found to copying or any 
unauthorised/prohibited material is found form his/her, an 
FIR shall be lodged in the Police against that candidate 
and action will be taken under Rule 3 of the Prevention of 
Unfair means Act, 1992. Such applicant can be prohibited 
from appearing in all examination in future. 

10- fdlh Hkh izdkj dh rF;kRed vFkok eqnz.k =qfV dh fLFkfr esa 
vaxszth :ikUrj dks ekuk tk,xkA 

10. The English version will be treated as standard in case of 
any ambiguity or printing mistake. 

   

ijh{kkFkhZ ds gLrk{kj@ Signature of the Candidate 

 izekf.kr fd;k tkrk gS fd ijh{kkFkhZ dk lR;kiu vkosnu i= esa 
yxs mlds fp= ,oa mlds gLrk{kjksa ds feyku ds lkFk dj fy;k 
x;k vkSj ;g ijh{kkFkhZ ogh gS ftlus vkosnu fd;k gSA 

 It is certify that the verification of the candidate has been 
done as per the photographs pasted and also signatures 
given on the application form. It is stated that he/she is the 
same candidate who has applied. 

   

ijhoh{kd ds gLrk{kj@ Signature of the Invigilator  
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1. The Highest bond order is found in- 

 (A) BN       (B) CO 

 (C) NO       (D) NC2 

 fdlesa mPpre ca| dksfV gksxh& 

 ¼v½ BN       ¼c½ CO 

 ¼l½ NO       ¼n½ NC2 

2. A metallic bond is - 

 (A) Ionic       (B) Polar covalent 

 (C) Non polar covalent    (D) Electrostatic  

 |kfÙod ca?k gksrk gS&  

 ¼v½ vk;fud      ¼c½ |zqoh; lgla;kstd 

 ¼l½ v/kzqoh; lgla;kstd    ¼n½ bysDVªkLVsfVd 

3. The strongest acid (in gas phase) is - 

 (A) H2O       (B) HCl 

 (C) HI       (D) CH4 

 fuEu esa ls ¼xSlh; izkoLFkk esa½ lokZf/kd izcy vEy gS&  

 ¼v½ H2O       ¼c½ HCl 

 ¼l½ HI        ¼n½ CH4 

4. In Fe (CO)5 the Fe – C bond has - 

 (A) π Character only    (B) Both σ and π character 

 (C) Ionic character     (D) σ Character only 

 Fe (CO)5 esa Fe – C ca/k esa gksrk gS&  

 ¼v½ dsoy π dsjsDVj     ¼c½ σ vkSj π dsjsDVj nksuksa 

 ¼l½ vk;fud dsjsDVj     ¼n½ dsoy σ dSjsDVj 

5. Due to presence of unpaired electron free radicals are - 

 (A) Chemically reactive    (B) Chemically inactive 

 (C) Anion      (D) Cation 

 v;qfXer bysDVªkWu dh mifLFkfr ds dkj.k eqDr ewyd gksrs gSa& 

 ¼v½ lfØ; jklk;fud     ¼c½ vfØ; jklk;fud 

 ¼l½ /kuk;u      ¼n½ _.kk;u 
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6. Which of the following has the lowest melting point? 

 (A) LiCl       (B) NaCl 

 (C) KCl       (D) RbCl 

 fuEu esa ls fdldk xyukad U;wure gS\ 

 ¼v½ LiCl       ¼c½ NaCl 

 ¼l½ KCl       ¼n½ RbCl 

7. Maximum oxidation state is shown by- 

 (A) Mn       (B) Cr 

 (C) Co       (D) Os 

 vf/kdre vkWDlhdj.k voLFkk gksrh gS&  

 ¼v½ Mn esa      ¼c½ Cr esa 

 ¼l½ Co eas       ¼n½ Os esa 

8. Which of the following acts as a π - acid ligand? 

 (A) F
–
       (B) O

2–
  

 (C) CO       (D) NH3 

 fuEu esa ls dkSu lk π ,flM fyxsaM gS\  

 ¼v½ F
–       ¼c½ O

2– 

 ¼l½ CO       ¼n½ NH3 

9. d – p mixing occurs in - 

 (A) Tetrahedral complexes only 

 (B) Octahedral complexes only 

 (C) Complexes with no centre of symmetry 

 (D) Complexes with centre of Symmetry.  

 d – p d{kd feJ.k gksrk gS& 

 ¼v½ prq"Qydh; ladqyksa esa dsoy 

 ¼c½ dsoy v"V Qydh; ladqyksa esa 

 ¼l½ lefefr dsaæ jfgr ladqyksa esa 

 ¼n½ lefefr dsaæ okys ladqyks esa 
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10. Compound which obeys 18 electron rule is? 

 (A) Mn(CO)3      (B) Fe(CO)4 

 (C) V(CO)6      (D) Cr(CO)6 

 fuEu esa ls dkSu 18 bysDVªkWu fu;e dk ikyu djrk gS&  

 ¼v½ Mn(CO)3      ¼c½ Fe(CO)4 

 ¼l½ V(CO)6      ¼n½ Cr(CO)6 

11. Waker’s process uses the catalyst - 

 (A) Wilkinson’s Catalyst    (B) Zeis’s Salt 

 (C) Zeigler Natta Catalyst   (D) Potash Salt 

 osdjZl izkslsl esa dkSulk mRizsjd iz;ksx gksrk gS& 

 ¼v½ fofYdUlUl mRizsjd    ¼c½ tkbl yo.k 

 ¼l½ ftxyj ukVk mRizsjd    ¼n½ iksVk’k yo.k 

12. The property measured in TGA is - 

 (A) Change in weight    (B) Rate of change in weight 

 (C) Heat evolved     (D) Change in temperature 

 TGA esa ekih tkus okyh gS& 

 ¼v½ Hkkj esa ifjorZu      ¼c½ “kj ifjorZu dh nj 

 ¼l½ mRlftZr Å"ek     ¼n½ rki esa ifjorZu 

13. Phosphatise contains - 

 (A) Zn       (B) Mg 

 (C) Cu       (D) All 

 QkWLQsVst esa gSa& 

 ¼v½ Zn       ¼c½ Mg 

 ¼l½ Cu       ¼n½ lHkh 

14. Ferritin and transferrin are - 

 (A) electron carriers     (B) metal sensors 

 (C) metal storage and structural proteins (D) hydrolysis 

 QsjsfVu ,oa VªkWlQsfju gSa& 

 ¼v½ bysDVªkWu dSfj;jl    ¼c½ /kkrq laslj 

 ¼l½ /kkrq HkaMkjd ,ao lajpukRed izksVhUl ¼n½ gkWbMªksykbtst 
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15. Thorium is found in - 

 (A) Uranite      (B) Monazite 

 (C) Pitchblende     (D) Malachite green 

 Fkksfj;e ik;k tkrk gS] esa &  

 ¼v½ ;wjsukbV      ¼c½ eksukt+kbV 

 ¼l½ fipCysaM      ¼n½ esyk pkbV xzhu 

16. Water used in moderator in nuclear reaction is called -   

 (A) hard water      (B) heavy water 

 (C) nuclear water     (D) clinical water 

 eksMjsVj esa iz;qDr ikuh dgykrk gS & 

 ¼v½ dBksj ikuh      ¼c½ Hkkjh ty 

 ¼l½ U;wfDy;j ty     ¼n½ fDyfudy ty 

17. Fan – man relates to - 

 (A) Pu - bomb      (B) U - bomb 

 (C) He – bomb     (D) Th – bomb 

 QSu & eSu laca/k j[krk gS] ls & 

 ¼v½ Pu & ckWe      ¼c½ U & ckWe 

 ¼l½ He & ckWe      ¼n½ Th & ckWe 

18. The de – Broglie hypothesis is associated with - 

 (A) Wave nature of electrons only  (B) Wave nature of protons only 

 (C) Wave nature of radiation   (D) Wave nature of all particles 

 fM czksxyh ladYiuk lac) gS] ls &  

 ¼v½ bysDVªkWUl dh rajx izÑfr   ¼c½ izksVksUl dh rajx izÑfr 

 ¼l½ fofdj.k dh rajx izÑfr   ¼n½ lHkh d.kksa dh rajx izÑfr 

19. Matter waves are - 

 (A) Longitudinal      (B) Electromagnetic 

 (C) Travel with speed of light   (D) Show diffraction 

 inkFkZ ygjsa gSa\  

 ¼v½ vuqnS/;Z      ¼c½ fo|qe pqEcdh; 

 ¼l½ izdk’k dh xfr ds cjkcj   ¼n½ foorZu fn[kk,¡ 
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20. The molecule which is IR inactive but Raman – active is -   

 (A) N2       (B) HCl 

 (C) SO2       (D) Protein 

 IR & fuf"Ø; fdarq jeu lfØ; v.kq gS & 

 ¼v½ N2       ¼c½ HCl 

 ¼l½ SO2       ¼n½ izksVhu 

21. Mossbauer and NQR spectra are observed in -   

 (A) Solid state      (B) Liquid state 

 (C) Gaseous state     (D) Liquid crystals 

 ekWlck,j ,oa NQR LisDVªe ik;s tkrs gSa &  

 ¼v½ lksfyM LVsV esa     ¼c½ æo LVsV esa 

 ¼l½ xSlh; LVsV esa     ¼n½ æoh; fØLVy esa 

22. Which of the following molecule may show absorption in IR region? 

 (A) N2       (B) CO2   

 (C) OCS       (D) HCl 

 IR {ks= esa dkSu lk v.kq vo’kks"k.k fn[kk ldrk gS & 

 ¼v½ N2       ¼c½ CO2 

 ¼l½ OCS       ¼n½ HCl 

23. According to MOT the highest occupied MO in O2 is -  

 (A) σ 2 s       (B) σ * 2P   

 (C) π 2P       (D) π * 2P 

 MOT ds vuqlkj O2 dk mPpre Hkjk gqvk MO gS & 

 ¼v½ σ 2 s       ¼c½ σ * 2P 

 ¼l½ π 2P       ¼n½ π * 2P 

24. The first Law of Thermodynamics is conservation of - 

 (A) momentum     (B) energy   

 (C) mass       (D) None 

 Å"ekxfrdh dk izFke fu;e gS] dk laj{k.k & 

 ¼v½ laosx       ¼c½ ÅtkZ 

 ¼l½ æO;eku      ¼n½ dksbZ Hkh ugh 
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25. For any process, the second law of thermodynamics requires the change of entropy of 

universe by -  

 (A) Positive only     (B) Positive or Zero   

 (C) Zero only      (D) Negative or zero 

 Å"ek xfr dh ds f}rh; fu;e ds vuqlkj fdlh Hkh izØe esa ;wfuolZ dh ,UVªkWih dk ifjorZu 

gksuk pkfg;s &  

 ¼v½ /kukRed gh      ¼c½ /kukRed vFkok 'kwU; 

 ¼l½ 'kwU; gh      ¼n½ _.kkRed ;k 'kwU; 

26. The one which decreases with dilution is- 

 (A) Conductance     (B) Specific conductance   

 (C) Equivalent conductance    (D) Molar conductance 

 ruqrk ds lkFk ?kVrh gS &  

 ¼v½ pkydrk       ¼c½ fof’k"V pkydrk 

 ¼l½ rqY;kadh pkydrk     ¼n½ eksyj pkydrk 

27. Sorption is term used when? 

 (A) adsorption takes place   (B) desorption takes place   

 (C) both (a) and (b)     (D) absorption also starts  

 'kks"k.k iz;ksx esa vkrk gS tc\ 

 ¼v½ vf|’kks"k.k gksrk gS    ¼c½ fo’kks"k.k gksrk gS 

 ¼l½ nksuksa (a) ,oa (b)     ¼n½ vo’kks"k.k Hkh 'kq: gksrk gS 

28. Frenkel defect appears in - 

 (A) AgI       (B) ZnS   

 (C) Ag Br      (D) All 

 Ýsdy =qfV ik;h tkrh gS 

 ¼v½ AgI esa      ¼c½ ZnS esa 

 ¼l½ Ag Br esa      ¼n½ lHkh 



[Chemistry (011)]        Page 8 of 12                

29. Amorphous solids do not have - 

 (A) Sharp melting points     

 (B) are ISO tropic    

 (C) Have same mechanical strength, electrical and optical properties in all directions. 

 (D) All of above 

 vfØLVyh; Bksl esa ugha gksrk gS &  

 ¼v½ fuf’pr xyukad 

 ¼c½ lenSf’kdrk 

 ¼l½ lekr esdsfudy LVSaªFk] bysfDVªdy ,oa izdk’kdh; xq.k 

 ¼n½ lHkh 

30. A crystal without element of symmetry is - 

 (A) CuSO4. 5H2O     (B) CsCl  

 (C) NaCl       (D) KNO3 

 lefefr rÙo jfgr fØLVy gS & 

 ¼v½ CuSO4. 5H2O     ¼c½ CsCl 

 ¼l½ NaCl       ¼n½ KNO3 

31. C6H6 molecule has the point group - 

 (A) D4h       (B) D2d   

 (C) D6h       (D) D3d 

 C6H6 v.kq esa ikWbaV xzqi gSa &  

 ¼v½ D4h       ¼c½ D2d 

 ¼l½ D6h       ¼n½ D3d 

32. One of the modern methods of studying free radicals is - 

 (A) IR Spectra      (B) UV Spectra   

 (C) CI DNP      (D) Microwave Spectra 

 eqDr ewydkas ds v/;;u dh vk/kqfud fof/k gS & 

 ¼v½ IR LisDVªk      ¼c½ UV LisDVªk 

 ¼l½ CI DNP      ¼n½ ekbØksoso LisDVªk 
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33. The Hoffman rearrangement has an intermediate that is electronically similar to that in -  

 (A) Claisen rearrangement    (B) Cope rearrangement   

 (C) Beckman rearrangement   (D) Pinacol rearrangement  

 gkWQesu iqufoZU;kl esa ek/;fed tks bysDVªkWfudyh leku gS] ds &  

 ¼v½ Dyslu iqufoZU;kl     ¼c½ dksi iqufoZU;kl 

 ¼l½ cSdeku iqufoZU;kl    ¼n½ fiusdkWy iqufoZU;kl 

34. Oppenauer oxidation is a reverse reaction of - 

 (A) Birch reduction     (B) Clemmensen reduction   

 (C) MPV reduction     (D) Rosemund reduction 

 vkWiuWj vkDlh dj.k ,d O;qOØe vfHkfØ;k gS &  

 ¼v½ cpZ vip;u dh     ¼c½ DysesUlu vip;u dh 

 ¼l½ MPV vip;u dh    ¼n½ jksteqaM vip;u dh 

35. Which of the following compounds act as a protecting group for alcohols?  

 (A) Ethers      (B) Acetals    

 (C) Ketals      (D) All of these 

 ,YdkWgkWYl ds fy;s fuEu eas ls dkSu ls ;kSfxd izksVsfDVax lewg dh rjg dke esa vkrs gS & 

 ¼v½ bZFkj       ¼c½ ,slhVYl 

 ¼l½ dhVYl      ¼n½ lHkh mijksDr 

36. Addition of Br2 to Trans – 2 – butene produces - 

 (A) a pair of enantiomers     (B) a meso compound   

 (C) a pair of diastereomers   (D) a compound with single chiral centre  

 Vªkal & 2 C;wVhu eas Br2 ds ;ksx ls curk gS & 

 ¼v½ busa’;kselZ dk ,d ;qXe   ¼c½ ,d eslks ;kSfxd 

 ¼l½ Mk;LVhjh;ksesjl dk ,d ;qXe   ¼n½ ,d fdjsy lsaVjs okyk ,d ;kSfxd 

37. In a cycloaddition if both the bonds to a component are formed on the same face the 

process is termed as -  

 (A) Supra facial     (B) antara facial   

 (C) Supra facial – supra facial   (D) antara facial – antara facial 

 lkbDyks,fM’ku esa ;fn nksuksa ca/k ,d gh Qyd ij curs gSa rks ;g izfØ;k dgykrh gS & 

 ¼v½ lqijk Qsf’k;d     ¼c½ ,saVkjk Qsf’k;y 

 ¼l½ lqijk Qsf’k;d & lqijk Qsf’k;y  ¼n½ ,saVkjk Qsf’k;y & ,saVkjk Qsf’k;y 
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38. Which of the following excited state has a long half life?   

 (A) S1       (B) S2   

 (C) T1       (D) T2 

 fuEu esa ls fdl mÙksftr voLFkk dh gkQ ykbQ yach gS\  

 ¼v½ S1       ¼c½ S2 

 ¼l½ T1       ¼n½ T2 

39. Nicotinic acid reacts with soda lime to give - 

 (A) Pyrrole       (B) Piperidine   

 (C) Pyrrolidine     (D) Pyridine 

 fudksfVfud vEy lksMk ykbe ls fØ;k dj nsrk gS & 

 ¼v½ ikbjksy      ¼c½ ikbisfjMhu 

 ¼l½ ikbjksfyMhu      ¼n½ fijhMhu 

40. α – D (+) glucose and β – D (+) glucose are - 

 (A) enantiomers     (B) geometrical isomers   

 (C) epimers      (D) anomers 

 α – D (+) Xywdkst ,oa β – D (+) Xywdkst gS & 

 ¼v½ ,usa’;kselZ      ¼c½ X;kfefr; vkblkselZ 

 ¼l½ ,sfielZ      ¼n½ ,sukselZ 

41. On fusion with conc. KOH quinine gives - 

 (A) 6 – methoxy quinoline + lipidine  (B) quininic acid   

 (C) maero quinine      (D) 6 – hydroxyl quinoline 

 KOH ds Dohukbu ds lkFk ¶;wtu dk mRikn gksxk & 

 ¼v½ 6 & esFkksDlh Dohuksyhu $ fyfiMhu ¼c½ Dohfufud vEy 

 ¼l½ esjks Dohuhu      ¼n½ 6 & gkbMªkWDlh dohuksyhu 

42. The drug used against AIDS is - 

 (A) Envoid E      (B) A Z T   

 (C) B H A      (D) L S D 

 AIDS ds bykt ds fy;s mi;ksx esa ykb tkus okyh nok gS &  

 ¼v½ ,UokbM & E     ¼c½ A Z T  

 ¼l½ B H A      ¼n½ L S D 
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43. Disease caused by eating fish containing industrial mercury waste is -  

 (A) Minimata disease    (B) Parkinson disease   

 (C) Hashimota disease    (D) Osteo sclerosis 

 vkS|ksfxd edZjh vif’k"V ls ;qDr eNyh [kkus ls gqvh O;kf/k dk uke gS &   

 ¼v½ fefuekVk O;kf|     ¼c½ ikfdZale O;kf| 

 ¼l½ gsf’keksVk O;kf|     ¼n½ vkWfLV;ks LDysjksfll 

44. Which of the following gas reacts with haemoglobin blood and causes toxic effect? 

 (A) CO2       (B) SO2   

 (C) NO2       (D) CO 

 jDr esa gheksXyksfcu ls fØ;k dj dkSulh xSl tgjhyk izHkko Mkyrh gS &  

 ¼v½ CO2       ¼c½ SO2 

 ¼l½ NO2       ¼n½ CO 

45. An example of non – narcotic analgesic is -  

 (A) Keto profen     (B) Cocaine   

 (C) Morphine      (D) Pethidine 

 ukWu & ukjdksfVd ,uYtsfld dk mnkdj.k gS & 

 ¼v½ dhVks izksQsu      ¼c½ dksdsu 

 ¼l½ eksjQhu      ¼n½ iSfFkMhu 

46. Organomercury compounds are - 

 (A) Herbicides      (B) Fungicides   

 (C) Fumigants      (D) Insecticides 

 vkxsZuks eD;wjh ;kSfxd gSa &  

 ¼v½ gchZlkbM~l      ¼c½ Qsth lkbM~l 

 ¼l½ ¶;wehxsaV~l      ¼n½ balsfDVlkbM~l 
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47. Supra molecular chemistry deals with molecules of length scales - 

 (A) 1 – 100 A°     (B) 1 – 100 nm   

 (C) 1 – 100 cm     (D) 1 – 100 pm 

 lqizkeksfyD;wyj dSfeLVªh laca/k j[krh gS] fuEu eki ds v.kqvksa ls &  

 ¼v½ 1 – 100 A°     ¼c½ 1 – 100 nm 

 ¼l½ 1 – 100 cm     ¼n½ 1 – 100 pm 

48. During Bhopal Tragedy the gas released was - 

 (A) Potassium Thiocyanate   (B) Phosgene   

 (C) Methyl isocyanate    (D) ammonia 

 Hkksiky =klfn fudyus okyh xSl Fkh &  

 ¼v½ iksVsf’k;e vkblks Fkk;ks lk;usV  ¼c½ QkWLthu 

 ¼l½ esfFky vkblks lk;usV    ¼n½ veksfu;k 

49. Which of the following is a hypnotic drug?  

 (A) Salol       (B) Luminal   

 (C) Piperizine      (D) Novalgin 

 fuEu esa ls dkSu lh ,d fgIuksfVd nok gS\ 

 ¼v½ lkyksy      ¼c½ Y;wfeuky 

 ¼l½ ikbisfjthu      ¼n½ uksokYthu 

50. The brown hazy fumes of photochemical smog are due to - 

 (A) Nitrogen Oxide     (B) Aldehydes    

 (C) SO2       (D) CO2 

 /kqNyk Hkwjk /kqaok gksrk gSA fuEu esa ls fdl xSl ds dkj.k &  

 ¼v½ ukbVªkstu vkWDlkbM    ¼c½ ,fYMgkbM~l 

 ¼l½ SO2       ¼n½ CO2 

 


